
WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

21 of

LED Stream™  |  Recessed Linear 
4˝ Veiled Ambient Slot
I N S T A L L A T I O N  I N S T R U C T I O N S

C O R N E R S

G E N E R A L  I N S T A L L A T I O N

Aligner  
Spline

Aligner  
Spline

T-Bar Clip
8-32 x 2˝  
Machine Bolt

8-32 x 2˝  
Machine Bolt

8-32 U-Nut

8-32  
U-Nut

#8- x 3/8˝ Sheet  
Metal Screw

1/4˝ Fender  
Washer

Overhead  
Mounting Bracket

X1 PARTS

X1 X3 X7

X3 /X7 PARTS

55/8˝

55/8˝ 55/8˝

57/8˝ Opening57/8˝ Opening 57/8˝ OpeningDry-Wall Screw 
(By Others)

Mud Over 
Flange63/16˝6˝  

T-Bar Centers
67/16˝

49/16˝ 49/16˝ 49/16˝

61/16˝ 61/16˝

Fixture Length
3˝

1113/16˝
11/2˝

55/8˝

Fi
xt

ur
e 

Le
ng

th

T-Bar Ceilings: Corner T-Bar length is 1’ nominal. 
Hard Ceilings: Length of ceiling opening is fixture row plus 1/8˝ on each end. 

8-32 
U-Nut

11
13/

16˝

8-32 
U-Nut

8-32 
U-Nut

Aligner  
Spline

#8- x 3/8˝  
Sheet  
Metal  
Screw

T-Bar  
Clip

Overhead 
Mounting 
Brackets

Overhead 
Mounting 
Brackets

8-32 x 2˝  
Machine  

Bolt
8-32 x 2˝  
Machine  

Bolt

8-32 x 2˝  
Machine  

Bolt

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

10-25-2018



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

22 of

LED Stream™  |  Recessed Linear 
4˝ Veiled Ambient Slot
I N S T A L L A T I O N  I N S T R U C T I O N S

C O R N E R S

NOTE :  Corners are powered by driver in previous fixture
1.	 Install corner body into ceiling.
2.	 Remove driver covers from adjoining fixtures. Join fixtures to 

corner with 2x #8 screws, 2x u-nuts, and 2x aligner splines at  
each joint. Reinstall driver covers on adjoining fixtures.

C O R N E R  I N S T A L L A T I O N  S T E P S

Overhead Mounting Bracket 
(Hard Ceiling Only)

Reflector film

Aligner Spline

8-32 U-Nut

8-32 x 2˝ 
Machine Bolt

Aligner Spline
8-32 U-Nut

DETAIL A

DETAIL A

3.	 Remove foam inserts from corners.
4.	 Wearing gloves, install long film in both adjoining rows  

(runs into corner fixture).

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

10-25-2018


